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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 4th Semester Examination. 2020

BOTHGECO4T/BOTGCORO4T-BOTANY (G F4/DSC4)

Full Marks: 40

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer the following questions: 116 =16

frafeiie ertafim Tea wies

Name the components of water potential.

&7 et TAMITHR I (57021 |

What is osmosis?

GO FICF A ¢

What do you mean by macro elements?

wfewfas AReTes I 30 9

What is the function of companion cell in phloem transport?
FI ~RRE 7R (I IS FY 9

Name the principal sugar present in the phloem sap.
(I *RP 2O EPICACIA LT WRANZo 23 9

What is leghaemoglobin?

@1t fercanfas s

Write the full form of RUBISCO.

RUBISCO-@d 77 71 &0 |

Name the products formed during light reactions in photosynthesis.
e e o & (e Bewr 23 ¢

What is Kranz anatomy?

Kranz Anatomy <1(F (& ?

What is anaerobic respiration?

TG A FIEF A 9

What is transamination?

TS I A 9

What are competitive inhiboitors?

aiibbe Zaf2fes fF ¢

Name a plant hormone which is used as a herbicide.
QT S191l] Wil Id] ZACNCHR 1N FCA
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(n) What is photoperiodism?
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(0) Write the definition of critical day length of flowering.
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o PO TRIV WIS FIF FI(F 30 9
What is vernalization?
Vernalization F0F 30 9

Answer any eight questions from the following:
fasfefie Q-ia Wi 2vse Taa wies

Distinguish between transpiration and guttation. Name a plant where guttation
occurs.

AT ¢ AR FE e 9 93T Bgra I T @A 3w (rire e T |
What do you mean by phloem loading and unloading?

T (=TS '8 WATAIER FICE et 9

What are allosteric enzymes? Distinguish between Cofactor and Coenzyme.
OB ST 9 (17139 99 (PIATEIIN-G9 212/ el |

Mention the role of nitrogen and phosphorus in plants.

Tfgrma AFDIT ¢ THFACR SIS G|

Mention the structure of nitrogenase enzyme.

ARLBICSCACTR I FTE A |

C plants are more efficient than C; plants- Justify.

Cs Sfera C; Tferm Utz wwol @i — siwel weffa |

Mention CO; producing steps of TCA cycle.

TCA cycle-93 T4 ©iZ W3ITG Seogaial *ifnefd @

Distinguish between photo phosphorylation and oxidative phosphorylation.
FOIFAFRIZE G WGBS FCHRFAFRIZET-99 21 @

Where does pentose phosphate pathway occur in a cell? Write down the first
reaction of this pathway.

(PICOIE FHCFG 212 (PICFA (FIAM T 9 G 727 22w R[S Srae s

What is the role of ethylene in fruit ripening?

e wfarere e o e

Write a short note on the photo-reversibility of phytochrome in
photomorphogenecis.

SCICE GO FRIGICHIN 9805 1907 W@ RSNl F5i0 Fe o) sl |
Classify plants on the basis of photo-periodism.

SEEien fefere Sfemm e@fen s

N.B.: Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
! hour after end of exam. University / College authorities will not be held responsible
Sfor wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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